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B. by viewing the logs and events in the System Administration section of vCD 
C. by viewing the logs and events from the Manage and Monitor pane on the System tab 
D. by exporting the logs and events using the associated wizard 

Answer: C 

QUESTION: 162 
A network pool with a network limit of 1000 has 985 networks deployed. Performance 
has decreased on the all of the vApp networks. What is a possible contributing factor to 
this issue? 

A. The wrong allocation model has been configured. 
B. There are not enough port groups. 
C. The port group is set to ephemeral binding. 
D. The MTU is configured incorrectly. 

Answer: D 

QUESTION: 163 
Using vCloud Director, what is the first step to prevent VMs from being deployed on an 
ESXi host? 

A. Disable the ESXi host. 
B. Unprepare the ESXi host. 
C. Delete the ESXi host. 
D. Remove the ESXi host. 

Answer: A 

QUESTION: 164 

Click the Exhibit button. 
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An administrator configures vApp 1 and vApp 2 as displayed in the exhibit. The 
administrator discovers that VM A is unable to communicate with VM B What are two 
possible causes? (Choose two.) 

A. The physical switch has ACLs preventing traffic.
B. The network pool is configured with port group isolation.
C. The vShield appliances are configured to block all traffic.
D. The physical switch has an MTU of 9000 bytes.

Answer: A, C 

QUESTION: 165 
In a large organization, IT personnel are setting up user access to a vCenter Chargeback 
server. A decision is made to use LDAP instead of using local user accounts. Which two 
roles should be assigned to IT personnel in order to configure the LDAP server?  (Choose 
two.) 

A. Super User
B. Root
C. Hierarchy Manager
D. Administrator

Answer: A, D 

QUESTION: 166 
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A vShield Edge device provides which three services? (Choose three.) 

A. Firewall
B. DHCP
C. VLAN
D. NAT
E. Proxy

Answer: A, B, D 

QUESTION: 167 
A vCenter Chargeback user needs to export an archived report. Which two file formats 
are supported for this operation? (Choose two.) 

A. .xls
B. .doc
C. .rtf
D. .csv

Answer: C, D 

QUESTION: 168 
A user shuts down a vApp. The vApp was connected to an Organization Network as 
External Routed. What will happen when the vApp is shut down? 

A. vShield Manager is powered off.
B. vShield Manager is disabled.
C. vShield Edge is powered off.
D. vShield Edge is disabled.

Answer: C 

QUESTION: 169 
Which two Organizational Network types allows for an organization administrator to 
control IP assignments? (Choose two.) 

A. External Direct
B. External Routed
C. Internal Routed
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D. Internal

Answer: B, D 

QUESTION: 170 
An administrator needs to deploy a vApp with multiple VMs but has been allocated only 
one external IP address by the Cloud Administrator. Which two steps should the 
administrator take to allow access to all VMs from the Organization Network?  (Choose 
two.) 

A. Enable port forwarding using the external IP address of the vShield Edge device.
B. Enable IP Translation mapping the internal IPs to external IP addresses.
C. Enable IP Masquerading.
D. Enable IPsec tunneling between the Organization Network and the vApp network.

Answer: A, C 

QUESTION: 171 
A user needs to set up VPN tunneling between two different Organizations which are 
connected to different external networks. What does the user need to complete the 
configuration? 

A. vCloud URL, Organization Name, Organization Admin, Password
B. Organization URL, External Network Name, Organization Admin, Password
C. vCloud URL, IP address of the peer end point, Organization Admin, Password
D. Organization URL, Organization Admin, Password

Answer: A 
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